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e

x, y, m TONf7 T AT |

e 37
J/tﬁt“b 6 @32 ab = 8 T OIEA a2 + b? =

?®. 20
ﬂb:?ﬂ{ a? + b2 = 25 XA ab @A W

A :wwmﬂ;\'s. 12

XK s —-3mx mmﬁﬁﬂm
*-(z)
“ x-l=3T, xl+ 5= FE. 11
~6{ Iﬁ(a+§)=4ﬂ,ma2+§—i='§3!
T. 14
o a+%=ﬁm,a2+§mmt.(1)
[Reey Rfier]

L7 a+i—=zm.a2+§=wr . 2

Efwﬁ a-b=4, ab=45%q, oA a2 + b2 @
TR FS?
TN : a? + b2 = (a-b)? + 2ab =42 + 2. 45
=16+ 90 = 106
Short cut Method :
I% a—b=n, ab
=m T, O a2 + b | T 497 777
G n? + 2m (A AT IFA1 a® + b2 9a sb 47
e
x,y,mmmml
@A—Tfa - b =2, ab = 4 TASEH a? + b2 @ IN
FS?
Solve: a2 +b2=n2+2m=22+2 .4=4+8=12

mw:

I a-b=2 R ab = 63 W O a2 + b2 = FS?
8.130

FAx-—y=3aR xy=5 oA x2 + y2=FS?
T.19

-\‘\‘R’

-——4m & +1 =7%7 8.18

Y x+y=12aR x-y=27, x2+yt= F?
T.74
S/ a-t=s\V3Em, a2+5=%or 8. 77

& ‘ﬂﬁ(x—y)2=l4 mxy 2%, SAx2 + y2 =67
®.18

G.
-U/x+y=8,x-y=6 XA, x2 + y2 @@ WH —
FAYH : x2+y2=%{(x+y)2+(x—y)2}

louss fem L uf
=5 (8 +6)—2x100—50
Short cut Method :
vﬁmb_na b=m T, @ a + b €7 T
fadfa
WW%(ﬂ2+m2)ﬂwmml
a’+ b2 -9a @b
97 A x, y, m TN AFCE MA |
@AVA—a+b=49Ra-b=2T, a® + b* 97 77 F&7¢

Solve: a? + b* = %(n2 + m?)
{
=5 {47 +(2P)
1 _20 _
=2UI5+4)— > = I

® ﬁNﬂﬂ
& T a+b=V5 @ a-b=V332,TR
a2+b2=3%78, 4
3 a+b=13Ra-b=3T, a2 +b? TAFS?
T. 89
e/ a+b=49Ra-b=2%A, a2+ b? @ T F&?
T.10
AT Whi(x-y)? =12 @Rxy=1T], Q@ x2 +y2 =
o7 8. 14

6/ %[(a+b)2+(a—b)2} = IO? [35%7 AT

T.aZ+ bt
o il

(i) x2+l2=ﬂ? (11):13+1 =F6?

=2 @ oree e ww A o s

(iii) x4+—l;=W? (iv) x5+ =JS?

1 P X
a3 e
(v) x +xn FO? (vi) 2531 87

Solve : €% (¥7g A9 x 47 WA @F ¥R A I AW
T4 FR JH?

x+£=2
kS

2
1, 5_1_..!.=2
X

Pl




e
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A, 2+1=2x

q, L-2x+1=0
/A, (x-12=0
<,

Solve: a’ *é =nd-3n=2P-3x2=2

X+y=2 @A x2 +y2 =4 A, x> +y? 47

i = fRfa 3|
x-1=0
e HAYA : x2 + ¥ = (x + y)° - 2xy
T e Ay q,4=22-2xy
2+ saldhms I xy=0
s b . ol a0+ =(x+y)P -3yx+
(i) x3+x3—1+13- ﬁzzguoyfa iy
I 1
(i) x*+g=1+p5=2 3 (x-l;) =3 ¥, x3+1 T
() 55 +35=15+35=2 o B ¥ ot T &3 L
1 1 =33 +3x\3
v) M+ =Pem=2
x 1 =6\]§
y X - b __{__] 1
L S e ek % RS e mm:(x——)2=3
4, x—%:\/_
= X - x- K=
3 x+i=2m,x7-+i—_l&ﬁ?lﬂﬁﬁ‘f‘ﬂﬁﬂl i
t. 1 =(\j_)3+3'd;
- 63, 6 . =3W3+3W3=6V3
-, - 2 —
X x2 < x + 1 ) xeiS- o ST, 2+ 3~~ﬂiﬂ1ﬂﬁ‘fﬂﬁ3|

N
A

@7 @Rt e WA fAefa

T -aF 34 3
(a+b)3 =a3+ 3a2b + 3ab2 + b3
(a—b)3 =a3 - 3a%b + 3ab2 - b3
34+b3=(a+b)a?-ab+b?)
—b3=(a—b)(a + ab + b?)
a3 + b3 + ¢3 - 3abe

=%(a+b+c){(a—-b)2+(b—c)2+(c—a)2}
O -7 WS 8

I. al+bi=(a+by’-3ab(a+b)
2. ad-b3=(a-b)*+3ab(a-b)

bl ool el

&
KV i a+i=2'€§‘b‘m a3 1—=ws
AT -

1 i
2+ 5 =@+)-3a —(a+—)

=P -32)=8-6= 2
Short cut Method :

G nd —3n = [(FF) -

‘ - (.’ —(g) .
e, 5

\/ : 44 g

1 P+]—)=3 A, p +B;=w-e ®. 47

T -
e oITE, x =\ 3 —

I, x+i=\5
33+x3 (x+—) o ey (x+£)
=(\I_)3-3\f_=3\/—-3\(3=0

@0 frasg:
¥ ’Iﬁa+"=3WWa3+

= |~

=357 8. 18

- ’lﬁx+i—5ﬂw x3+l3|ﬂ?1‘ﬂ17l'ﬂi?

®.110
B3 -qfﬁ“—:wj_mma + =72 8.0
fx+;=ﬁm, x3+'x1—3=W? 8. 25
5_/' X+y=5xy=6%, x3+y3=W? 8. 35
a+b=5ab=3TA a3+ b3 =F87 ¥, §0
B.
\D/a—l;=2m a3—§mmwr
ﬂﬁ'a+£=n Iﬂ,m aj+fitﬁﬁmﬁ‘fﬂw wm 3
3 x WIF] A A7 FEAI x a3_$.—_(a—£)+3.a.£(a-£)
+§ -4 x @7 A a, y, m ZOTH TS N | —(2P+3(2)=8+6=14
e
B = B el
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Short cut Method :
I a—i =n &, oF a3-§a§f 7 A9 T=m
gy nit 33 4 3n
[WW)ijW]{mamﬁwrx—f -dx 47
AR a, y, m IO YFTE AT |

Solve: a¥ ~%5 = n? + 3n= (29 + 3x2=2

® sy

\/ﬂﬁa—;—Bma3—$=W?'@.36

2 Wix— =4 W ORE X~ @@ T vy
‘676

& x- \(_m. x3——=W?"3 Vs

x/ X-y= 4@ny-0m.x -y =3o? U. 64
¢ m-n=x 93’ mn=6x2T, m3-n = IE?

€. 19x3
\6/ X -

=p T, x3—;13~a§1wﬁffam1
. p3 + 3p

® P

C
D/ x=V3+ V2w, x3+x1—3tﬁﬂ1ﬂ‘¢‘3?
=V3+12

] V3-42
“V3eV2 NF+v2(V3- V72
_V3-V3
W22 - (V2

=V3-V2
+£=~J§+\l_ V3-42

Bt
=(2V3P - 3273
=83V3-6\N3=20V3-6V3 =183

Short cut Method :
W x=Va+ bz o1 3 +é a7 T fAqT
97 G

51{»-.*"

[(2 x TG T - 3 (2 x I@ I4] 7, R x3
@7 17

e w0 &0 [(2 x T@E W) + 3 (2 x =ib WA
Fq aT

T 4R, a IT T 4R b @&T N7 Ix3+$ -9 x
g9

< 4
2

admissionwar.com

o=y~ T x = V3 + V5 W, oA x3 +;‘1~_,;aa
WW?
Solve: x3+ 3 = [(2 xJC )3 - 3 (2 x I@ V=]

=[(2x\/—)3—3(2x\E]
=8x5\G —6‘/3
=40V5 - 6V5 = 345

emgA x =3 + V27, o - 3mmw:v
Solve: ﬂ-x—j =[(2 x &5 W7)% + 3 (2 x 1@ W]

=[2xV2B3+302xV2
=8x2x\E +6‘\E
2+6V2=22\2
® fmag:
M 'ﬂﬁp=\6+ﬁ@,m p3+$ aq TF 7

8. 5077
T ﬂﬁm:%+\/§'@,mm3+# R T TS
8. 42V6

Mﬂf#am:z,ab:lu.m a g3 b@d WA
N —
a5fers S - (A Wy,
P n, s e ST (i)
or, (a+b)2 =
or, (a-b)? + 4ab =4
or(a-b)2+ 41=4(.:ab=1)

or,(a-b)2=0
L e T T ey
(i)+(ii) TS A%
2a=2
=] =1

Short cut Method :
9T FAT FC AT FACC A [AT5T option
CLFAICS (GGl W (IS [T/ & VAGART VW 3
(ECIGIG &9 FAE QVFT ab 97 VAT TN WA 1
option [0 23 % ©&7/ &gF% ©NF, a + b -93
mmﬁm@mmmmmm;

ab=1%v 37 -

(a) 0x2 =0 IZNT 77

(b) I x I =139 TS AT
(c)(-1)x3=-3aZTT 7

(d) (= 3) x(—4) = 12 2797 77

G ©R (eF B @, QU option A Wk
@ s Geq

O/ﬁwﬂ’*

AaqVbEENTIS T a+b=74932 ab = 1(

ARICE a, y, m TG AFC© AT |

T3 [5,2]

Pt

e e eeeeee—————————————eeee
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Ry g g sas
J(' T a+b+c=9a3 a2 +b2 +c2 =5,
SIZCH ab + bec + ca ¥ W] ¢

Solve: (a+b+c)*=a%+b%+c?+2(ab + be + ca)
Or, 92=542(ab+ bc+ca)
Or, 81—-5=2(ab+ bc + ca)

Or, ab+bc+ca=72—6

3 ab+bc+ca=38’ 2%
qﬂz

- 8x - 8y + 16 + y2 43 WY IS @AM IAH
aren g3 o faf wa
Solve: x2 - 8x -8y + 16 + y2
=x? +y2 + (=4)? + 2xy + 2y (—4) + 2(~4)x - 2xy
=(x+y—4)72 - 2xy
g4 2xy G T AT 9 2T
3. a+b=2T ad+b?+6ab =37
Solve : a® + b + 6ab = (a + b)? - 3ab(a + b) + 6ab
=(2)3 - 3ab(2) + 6ab = 8
a+b+c=0TH al+b3+3 =79

!“ Solve :
q, a+b=-c
A, (a+bP=(-cP
A, @+ b3+ 3abla+b)=-c
A, d+b+3ab(-c)=-F [a+b==c]
W, ad+b3-3abc=-3
A, &+ b+ =3abc
~5./ 3.y3 =513 0T x-y=3TFA xy=I9?
Solve : x* -y =(x-yP + 3xy(x-y)
;, 513=(3P +3x(3)
, 9xy=1513-27
486

4, xy=‘9‘~=54

\/ 12 3l
g (p+p) =3 p +?¢I§W3‘5?

2
Solve : 797 9NR, (p + ;—J) =3

T, p+-—\/_
.-.p3+-»=(\]3)3-3\/§=o

2
¥ ;i zy"aawmw @t IR A oy faef
T

Solve : L

x2  2x
¥y

2
X X
=(=) +2.(=).1+12=1
(y) (y)

.
=(;+I) -1

wdie, | Q@ w3 ©F WA 9997 79

2

M 9, a+ b +c=0 .

{14, x2 +$mﬁmwmmm x3 -

\@/x+y+z=15ﬁ:x2+y2+zz=83m,

Xy + ¥z + zx 99 qiF§ IS?

Solve :
2 _ (x2 2 2
xy +yz+ o =—(EF Y+ s s)
_(15)* - 83 _225-83_
/ " 2 ey R
. a+b+c=10432 a2 + b? + ¢ = 38 A,

(@a-b?+(d-0c)?+(c-a? 9@ T I
Solve :

o gy v 4 2 2
ab+bc+ca—(a+b+c) 2(a + b* + ¢4)
10238 100 - 38
MOUE uah 4 2 =31

o[ (a=b)%+ (b—c)’+ (c—a)? )

" =2(a% + b% + ¢2) — 2(ab + bc + ca)
=2x36-2%x31=76-62=14
Lo./ub:cm, a3 + b3 + 3abc =39 ¢

¥ : a3 + b3 + 3abe
= (a + b)> - 3ab (a + b) + 3abc
=c3 - 3abc+3abc

&%
1{x+y ZWy—Sx—Zm, X8 ydd I¥
A WEFE—
TF:x+y=2
A T=2=~950 .1 (i)
Gy = 3x =2 o, (ii)

F, y=32-y)-2 (x 93 7 I WL
A, y=6-3y-2

A, y=4-3y

qA, 4y=4

y=1

93 y 97 T (i) 72 FAFACT I N,
xred=1

2=

xey=1.1

4['8=8,b=6’x=1
- 2%y @ W IS?
IF:  ax+ 2b-2xy

8x%+2x6—2.

4+ 12-4
12

a+b=743 ab = 10 A, a2+ b? + 3ab =
FE?

a? + b2 + 3ab

(a+ b)?—2ab + 3ab

(a+ b +ab=72+10

49+ 10= 59

. A

Q3R y =4 A, ax + 2b

0|

N~

I -

LU
LISH

3
W P -t=-b s x L)oo
P24

v -




P
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Do A2 irg 2
= (=D lx- " +3)=0

X+y=36 9 x-y=12 W, x G T I

W: x+y=236

2
| gy | x-y=12
D il o L 2x =48
2 —— Px=
- (I—f $2 SRt
: ‘2*‘?12‘2 i [ el s e (i, R, e, o) =1l
I, x2+—]2-=2 Ma—-{a—(a+l)}d§‘lﬁ“? 13327 Rffia)
‘] 3 IF: a-fa-(a+ 1) ~ <
x2+x—2=2a§mwﬂ+x—3=o =a-{fa-a-1)
57 x-y=10,xy =5 T, (x + y? =393 i
TF: (x+y)P=(x-yP + 4xy = (107 + 4.5 2 0.001 R
_ =100+20=120 8. 1% ¥V
\JE. 3(3x - 4) = 2(dx - 3) ¥ AV FTAH % @® i, 1
TR CI— s ARE ]
IF: 33x-4)=2(4x-3) =% , \J
= 9%-12=8-6 =01___ O
= 9% -8=-6+12 Lb Tx—Ix={(x+ 1))
=6 ¥ ﬁ =x—[x—x—1]
- a= 248 @@ W) iy
7. a =T (2a + D(4a? -2a + 1) @@ ALY x_[x- {x + D}] @7 T FB2 (3909 Ava
IS a-{a-(a-1}=997
I:  (2a+1)4a?-2a+ 1) IF:a-fa-(a-1)
=a-fa-a+l}) T

]3
=(2a)3+]=(2.5) + 1
=1+1=2
% x-y:?tﬂ?{xy:lsm. (x2+y2) 3 =
y?) @& TR @ I
e (2 +y2) (-

=a-1]
~6./‘x—[x-{x-(x + 1} peex Afawy
IF: x—[x—fx-x-1)]
=x—[x+1]
=x-x-1=-]
& a-[2b-{3c-(a-2b+3c)) = Fo?

={(x -y + 2xp]} { (x =3P + 3xy (x )} s e i
={49+30)} [ 343 + 3. 7. 15} =a—[2b-3c+a-2b+3c]
= 79x658 = 51982 =a-2b+3c-a+2b-3¢
R T 8 =9
197 2x + ¥+ 32x + y)? @x - y) + 30x + o fmwg.
D) @x - y¥ + Qx - y)¥; 5 2aAd [2-32-3)1) "1 @ TR 3B2 fseew AR
I, 2t y=paRar—yog (a—r@ _—,a+vy:ﬂg/' —1( -3) 1300 Rfa)
+ 1
avg M e, P’ +3p%q + 3pg® + & 3= 3'(5)

=(p+gP =(2x+y +2x—yP =(4xP = 6413
(@a+b+¢P - (a-b—c)>- 6(b + ¢
{a2- (b +c)?).
@ 6(b3 + 3b%c + 3bc? + ¢2)
@ 5(b3 + 3b2c + 3be2 + ¢2)
@® 7(b? + 3b%c + 3be2 + ¢2)

V @ 8(b3 + 3b% + 3bc? + ¢3)
T 2 (a+b+c)’ - (a-b-cP— 6 (bre) {a2-(b+c)?)
(a+b+c)3—(a-b-c)>— 3(a+btc) (a-b-c)
{a+b+c-atbsc) ;
(a+b+c-a+b+c)?
{2(b+c) ) = 8 (b3+3b2c+3bc2+cd)

20.

a=1b=-1,c=2,d=-2T, a-(b) - (=) - (-

d) @I FS? B, (07 2
37 0.000001 x“100000 = 7
€. (0.1)
0.1 x 0.01 x 0.001
.2 x 0.02 x 0.002

1

s (3)
2+(-2)-{-2))-2@TFIe? 8. - 4
a-[a-{a-(a-1)}]=? ®.1 _
a-[2b-{3c~-(a-2b+3c)})] ¥.0

G TH TS ? 3087 i)

7 4
T .
& 24(2)-(-Q)-2 @I T B, -4

P
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s 39 x2 -1 -y (y -2) 97 BeMe IS?
Y x+y =2, x2+y2 =47 x3 +y3 = IO [08OF Solve: x> — 1 - y(y - 2)

RiSa] 8.8 =*2‘(‘y;>’22+ 7-)’”

=x2—(y* =2y +

I I an et ¥ a0 Q@ 2Y IWW/ =xl=(y=1f=(x+y=I)fx-y+1)

Y x / x6-y6.q7 BT ?

2v2 — x2

R B, =L —X Solve: x6 -6 = (£3)2 = (3 )2 = (& - y3)(x* + )

3/ x <+ A A = (x =) + xy + YP)x + Y — 3y + )
€ =B Gy BN = (x = yx + Y2+ 3y + P)xE =3y + )
w93t e @ (wqw T, 387 [Ans]
RBias 8. 2xy /AW Problarmde” — b2 + dbc - 4c? (¥ BRAMTE TR I
7 el SRS

Byr x-l-7 mxu;lj@wwv loxew ] S""""“ng_(bf”z"c)‘;"cz)

€. 364 =(a+b-2c)a-b+ 2c)

o3 3 1 16 a3-8 @n BN

P LS W A L @IS 0% o1 o8 =(aP (2

Rffigs] 8. +7 =(a-2){(@®) + 2.a+ (2P]

=(a-2)a® +2a+4)
4[' (x=1)2 - 25 - a7 BT FT?

TR TR

g ANl J@ T=fFe FmaTR Y

FA:

& at+d @@ et R e

Solve at+4
= (@R + (2P =(a®+2P —2.a%2
= (a? + 2 —(2a
=(a?+2a+2)(a®-2a+2)

2 (a-2b)-a7 B fidw I

Solve: (a — 2b)
=a’-3.a%.2b+3.a(2b)?-(2bP
= a3 — 6a2b + 12ab? - 8b°
4x4 + 1.3 BT e I
Solve:b 4x* + 1 =(222 + (1
=(2x2+ 12 =221
=(2x2 + 1) —4dx2
=(2x% + 1)? - (2x)?
=(2x2 + I + 2x)(2x% + I - 2x)
=(2x2+2x+ )22 =2x+ 1)
(@a-b3+®=-c¢3+(c-aP & T
Fras 37|
Solve: (a—b) + (b—-c)? + (c —a)
=a3 —3a%h + 3ab? - b3 + b3 = 3b%c +3bc® -3 +
S -3c2a + 3ca® - a’
=3 { ab? - a®h - bPc + bc? - 2a + ca® }
=3(a-b)(b-c)c—-a)
x2 —y2 + 2y -1 @7 AW e

4.

v

Solve: x2 =y + 2y—-1=x*=(y¥2 =2y + 1)
=x2-(y-1)
=(x+y~1)(x—y+1)
x2 - 2ax + (a + b) (a - b) ¥ TeAWH
Raas I

Solve: x° — 2ax + (a + b)(a - b)
=x2-2ax+a®-b? = (x-a) -b*
=(x—a+b)(x-a-b)

Solve: (x — 1)2 =25 = (x = 12 = (5)?
=(x-1+S5)(x-1-5)
= (x + 4)(x-6)
23] 1-8a3 @ Betmre Rt 3
Solve: | - 8a° = I - (2a)
=(1- 2a){12+12a+(2a)2}
=(1-2a)1 + 2a + 42°)
. ad+l-a7 By

Solve: a3+ 1=(a+1)(@a2-a+1)

TYo-Og TS Y T

O 2x2 4 x - 15 @ Serre Rorad I

Solve: 2x2 + x =15 =2x% + 6x-5x-15
=2x(x+ 3)—5(x+3)
=(x+3)(2x-35)

—\1./' - 4a2 + 23a + 6 97 BeAWI?

Solve: — 4a® + 23a + 6
=—4a’+24a-a+6
=—4a(a-6)-1(a-06)
=(a-6)(-4a-1)
=(6—a)(4a +

¥, 3x?- 5x- 74% BeME?

Solve: 2x2 - 5x -7
=22 -Tx+2x-7
=x(2x=7) + 1(2x—7)
=(2x-7)x+1)

F 2x?-x-3 a7 TeAwS ?

Solve: 2x° —x -3

=22 -3x+2x-3
=x(2x-3) + I(2x-3)
=(2x-3)x+1)
i/ 3x2 - 7x - 6 97 TeAWF 2
Solve: 3x? - 7x -6

=32 -9x+2x-6

=3x(x—3)+ 2(x-3)
= (x-3)(3x + 2) [Ans]
_“6./ x2 —x -2 97 o3> BeAWF?
Solve: x2 —x-2=x2-2x+x-2
=(x=2)(x+1)
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. x-y) (5 +3) @R PR Setmwr
Solve: (x -y)();; 3)
=xy—y* + 3x-3y
\8(‘ x2 - 7x + 12 =39
Solve: x2 — 7x + 12
=2 —4x-3x %12
=x(x—-4)-3(x-4)
= (x—4)(x-3) [Ans]
9. 4x4 - 25x2 + 36 =39 ¢
Solve: 4x* — 25x2 + 36
=44 - 1632 -9x2 + 36
=dx? (x> ~4)-9 (x>~ 4)
= (x? - 4) (42 = 9) = (x + 2) (x - 2) {(2x)? - 3%}
=(x+2)(x=2)(2x+ 3)(2x-3)
10. x2-3x-10 <97 AT Bemze
Solve: x2 = 3x - 10
=x2_5x+2x-10
=x(x=5)+2(x=35)
=(x=5)(x+2)
11. x?2-x-12 @7 Beshivs ooy
Solve: x2 —x - 12
=x2—dx+ 3x—-12
=x(x=4) + 3(x-4)
=(x—4)x+3)
12, x4+ x2-20497 Btz Toy
Solve: x* + 5x2 —4x2 - 20
=x%(x? + 5) —4(x + 5)
=(x2 + 5)(x2-4)
=(x2 + 5)x2-22)
=(x2 + 5)(x+ 2)(x—2)

SITIT AfF TWIES Y AT
e x3 - x - 6 & BeMeE Rraae 3g |
Solve: 413, fix) = x> -x-6
&g FFITE x = 2 I fix)- 47 T 97 1|
o (x = 2), fix)-97 9B SeAme
G, x5 —x -6
B=22+22 -dx+3x-6
=x3(x-2)+2x{x=2) + 3(x=2)
=(x=2)x2+2x+3)
2. x3 - 3x? + 4x - 4 @7 @3 Vet
Solve: 43, fix) =x3 -3x2 + 4x -4
78 TS x = 2 TN fix) = 0 TA |
(x = 2) T fix) 97 916 S |
a¥, -3 +4x-4
sx0-22-2 42+ 2x-4
= (x=2)=xx=2)+ 2(x-2)
=(x=2}2-x#%2)
3, x3 - Txy? - 6y3 & Bewrs Rorwet 3w )
Solve: 41, fix) = x° — 7xy% — 653
Wﬂﬁf@x=—yWﬁx)~tﬂ§WWml
o (x4 y), fix)-49F GG GeNMTE |
94, x3 - 7xy? - 63

= & + x%y - x%y - xy? - 6xy% - 6y
= X2 (x+y)-xyx+y) -6y (x +y)

(x + y)(x* = xy - 6y2)
(x + y)(x% = 3xy + 2xy — 6y?)
(x + y)(x=3y)(x + 2y)
4. a3 - 21a - 20 ¥ ¥oITE FRTARY I
Solve: 413, fla) = a®-2la-20
#7G FIPICS a = ~1 P fla)- 97 N7 977 LI
(a+ 1), fla) 97 430 e |
9, a’-2la-20
=a’+a?-a?-a-20a-20
=a’(a+1)-ala+1)-20(a+1)
=(a+ I)(a®-a-20)
=(a+ 1)(a®-5a + 4a-20)
=(a+ 1){a(a-5) + 4a-5)}
=(a+ l)fa-5)a+4)
5. 2x4 - 5x3 4+ 6x%2 - 5x + 2 @7 OgAMT?
Solve: 413, fix) = 2x* =553 + 6x2 - 5x + 2
&g S x = 1 A fix)- <97 A T I
o (x=1), fix) 47 G915 G|
T, 2x* — 52 —6x% + 5x + 2
=20 -2 -3 + 32 + 2 —3x-2x+ 2
=27 (x-1)-3(x-1) + 3x(x= 1) = 2(x— 1)
=(x—1)(2x° = 3x2 + 3x-2)
=(x-1)(27 -2x2 -2 + x + 2x-2)
=(x-1){2x2 (x=1)-x(x—1) + 2 (x=1)}
=(x-1)(x=1)(2x2 -x + 2)
6. x3 - 7x + 6 47 TeAMD?
Solve: 4@ fix)=x>-7x+6
mmﬁz@x=1mﬂx)=om!
o (x—=1) TN fix)- 97 G5 CeAH |
G, =3 - Tx+6=xX-x2+x2-x-6x+6
=x2(x=1)+xx-1)-6(x-1)
=(x=1)(x*+x-6)
=(x=I)x+3)x=2)
7. x3 + 3x + 36 97 BT
Solve: 413, fix)=x+ 3x+ 36
a7G FACS x = — 3 PIAfix) = 0 TI|
o (x + 3) T fix) 97 4% G )
939, X +3x+ 36
=x3+ 32 -3x2-9x + I2x + 36
=x2(x+3)-3x(x+3)+12(x+3)
=(x+3)(x2-3x+12)
8. a% - da + 3 97 VAW ?
Solve: 4R, fla)=a*-4a+3
o478 FMTe a = 1 I fla) = 0 TJ |
o (a—1) WA fla) 97 431> CoMa |
G, af—4a+3
=d?-dd+d-a2+a’-a-3a+3
=a’(a-1)+a’(a-1) +ala-1)-3(a-1)
=(a-I1)fa*+a®+a-3)
=(a-1)(a-a? +2a? - 2a + 3a-3)
=(a-1){a?(a=1)+2a(a-1)+ 3(a—-1)]
=(a—1)(a—-1)(a®+2a+3)
9. 2a3 — 3a2 + 3a - 1 @7 T
Solve: 413, fla) = 2a%—3a% + 3a-1

-0
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Wﬂfﬁ(@'a=%mﬂa)=0ml

4B %wm (2a - 1) T fla)- @7 @3 Beotrs

G, 2a3-3a?+ 3a-1
=23 -a?-2a2+a+2a-1
=a’(2a-1)-a(2a-1)+ 1(2a-1)
=(2a-1)a?-a+ 1)

10. a3-7a-6 97 Bsiw T
Solve: 413, fla)=d’-7a-6
oG S a = — | P fla) = 0 TI|
(a + 1) T fla)-43 G5 GeN7F |
9, a-7a-6
=a’+a?-a?-a—-6a-6
=a’(a+1)-afa+1)-6(a+1)
=(a+ 1) a®-a-6)
=(a+ 1)a*-3a+2a-6)
=(a+ I){a(a=3) + 2(a-3)}
=(a+ I)fa-3)a+2)
11. 2x?2-x-3 97 @b Seoway

Solve: 4R, fix) = 2x?-x-3

ana TS x = —] w:%mmnom:

s (x+ 1) 8 (2x = 3), fix) 97 9> E<AaF |

a3, 2x2—x-3

=x(2x-3)+ 1(2x=-3)=(2x=-3)(x+ 1)
12. 3ad +2a+5 @7 TeAwI?
Solve: 4R, fla)=3a°+2a+ 5

a9G S a = —1 P fla) = 0 TJ|

o (a+ 1) TN fla)- 97 9310 TS |

q¥7, 3a’+2a+5

=3a°+3a°-3a°-3a+ 5a+5
=3a%(a+1)-3afa+ 1)+ 5a+1)
=(a+1)3a°-3a+5)

ofTs W :
1. —4aZ +23a+ 6 IR TME @AM ? (6-a)(da+ 1)
2. 2x2-5x-7@BATE— B, (2x - D(x + 1)
3. 3x2-7x-6@BAME— 8. (3x + 2)(x - 3)
4. x2-10xy - 11y2-qa Besime—

T, (x - 11y)(x + y)
5. 12x2 + 7x - 10-97 SeAmE—

. dx + 5(3x - 2)

F@e AAFAt
1. (@a-5(x+a)=a2_2§

1307 Rfam]

AT : (a-5)(x +a) = a2 — 25
ax-Sx+al-Sa=a2-25
A, x(a-5)=5a-25

W,x=5—%)'=5

2. N ARR FRPIR M 1 @ IAH Q@oH &

ARTR 3 99 TS 5 @ T3 e

@2 @1

@3 v @4

WA 47, FuT
HACS, 4x + 1 =3x+ 5

W, 4x-3x=5-1

W x=d
3 X + a Xx + b
% b+c+2a ¢c+a+2b
" X + ¢ =3
a+b+ 2¢c”

HAYIA :

@ B2 10, X+ b e &
"b+c+2a c+a+2b a+b+ 2c
-1=0

- Xx+a-b-c—-2a x+b-c—-a-2b
+ b+c+2a c+a+2b

x+c—a—b—2c_0
a+b+2c i
- X—a-b-¢c x—-a-b-¢ x—-a-b-c¢
' b+c+2a c+a+ 2b a+b+ 2c
=1
1 1 i
b+c+2a+c+a+2b+a+b+2c¢l
qA, x—-a-b-c=0

. Xx=a+b+c

ﬁt‘ﬁl’WIﬂT’i,x=(a+b+c)
X -a x-b x-3a-3b

s b ' a a+b =8

HAAIYIN
- x—-a+x—b+x—3(a+b)_0
’ b a a+b

x—-—a x-b X
1, R o +a+b—3—0
X—a x—-b X
<1, b -1= - -l+a+b—l 0
Xomit — b 7X"H & T x*a"2"h
o1 b a a+b 0
| 1
b+a+a+b¢0<
qA, x-a-b=0
q, x=a+b

e sweE, x = (a+b)

5. wmﬁmm%wm vrfa-mf‘lwm L]

AT S 200 HIF I LAG ICOT | OIF W IS ¢
AN : 47, ©F 97 x

X x_
m; 3—4—2m
dx = 3x
1, o =200
M, x=2400 BRI
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7. @b IXEA LU GFH IR PO AT 7 T
T 3 B 3% ¢ FACW (A6 FALD 43 B TA
%7 7o 7@ Sty
® 25 @ 20
@22 Vv @18

A @,WW=J¢

WEATT =x-7

x+x-7=43

dA, 2x=43+7

W 2x=50

aT:

Lyee,

50
X =

2
&= =25
o WEATT =25-7=18
8. ¥E WRREE @ AT WER WLIF AN © @M
A I GICIA UM (9T R R FEew are
S @ Hew fomge =@y
AN PRI AT =y
q@PT " = x
I = 10y + x
10(y + 3) + (x-2) = 3(10y + x)
10y + 30+ x—-2 =30y + 3x
~-20y-2x=-28
—-2(10y + x)=-28
10y +x= 14
9. 7R uR REE 3 AT T AT TII AT
el o @R At wewEm Al femed
et 8 @ | At vy
@ 20 @
v @ e @ W
I : 7 R GF
9T RN GF T + ©
M= 30T+ F+0=30F+0
B, )IF+0=(F+F+0o+8
T, NTF+o=0F+0F+5+8
ql, ¢F = do
;A F=2
o TRYIMG = 33 x A+ 0 =€
10. @b aF® SPW 7T ¢ TEA WWA 2; T ¢ W

Tsn e smmﬁvwmm,ww%

@t Fawa @FE 1 78| sifieifh For
IF: 4R R =x .. W=x +2

X

1

WQ’W: X
x + 2
x -5 4 8
aniza,x+2_5 4'1
x-3 ot
Yo gk 4
XS 3
@, X — 3. s
9, 4x=-20=3x-9
11
A, x=11 wfrenfy .

11. R USRS 93 Fits w@mma Jdsa v =
IACA SIAFA I © 432 AR AN S v @Mot T30
s #iE Ry 3@ | 1wt {dw w571
[ : A IR, G TR y I PP T x
FeRfe = 10x + y
R ST PR AR W@ = 10y + x
37 wéyre, 10X E Y _ 5

xy
T, 10x +y= 3xy----(i)

T WEWCO, [0x +y+ 18 =10y + x
qA, x-y=-=-2
W, x=-=2+y---(ii)
(i) 72 FNPFCI x 47 W IPCH NE
10(2+y)+y=3y(-2+y)
I, 3y(y-4)+5(y-4)=0

W)'=4 Wy=—£

3
y=4
y GF T (ii) T2 TAeRCT I NE -~
x=-2+4 x=2

o ARG = 10x +y = 24
I 1% wE RS @F AR SRR s o
w4t =T Rfvwm saea @ At ewt 37w, ©
ave Fe Tt TS 8¢ I | A IE T3 e
I : T IR, 9P G x

R Y 9-x

HRT = Yo x PP GF + PP T

= JYo(d-x)+=x

12.

= &0 — dox + x= 80 — &x
R K f[AfAwR P,
O Xk — X
= Jdox=xt+ts =3x+5
WEIPAIA, bo — 5x = dx + & + 8¢
A, sSx-dx=¢8 - do
M, Srx=-9b
xX=R

FRME = 0 — & x R = R

fAwe 3@

1. W 93 AR T4 AL 6 @ FAE @ TR
Neqt T A o @z 21 R 9= @32
T SAeq TW | ARG For 8. 18

3. ®AD 78%R (consecutive) IR F¥ WTR | IW AW
a0 A @I dro TW @ o B ez
@A Fo7 8. 35

4, o3 SPIeR R e T WB 11| R (€F 2
farael 93 =A@ AN 3 @9 TAE OFPICR VA W

21 sef fidn w1 8. S
P03



Scanned by: Moza

dul Isla Ctg N
fb: Dream-— Catcher% f?)a More Books From www.admissionwar.com

My fb group: BCS Preparation (Preli, Written, Viva) + Libra 2x -9 6x + 1 x-3 x-35
" LI i T el
" Lecture — 4 | 3(2x -9) - (6x + 1)
) 21
2(x-3)-(x-3)
fRoY s 2 6
6x -27 -6x - 1 2x -6-x+ 5
: 21 % 6
@ TR B oAt
& 3R, f(x) = agxP + agx™! + agxP=2 . + ap, CAATA N
20,2],2.....an FIF @R ag# 0. OIFA, f(x) = 0 R a0x" L S SET
+ ayxp-1 + a2x™2 4 ... +ap =0 x9 936 I 3 6
AR T | @ TANFINE FGRTS - WefafE Thead W, Spndm yrid
TN | 0= 1,2, 3 A, TR qeE 7w, w6, M, 3x = -24+3
fawre Fiead Fw wfefEe = @ arx—'—i"—=._7
. e 71419 x = - 7 [Ans]
wﬁemw x-a x-b x-3a-3b
WE W, ax, ax + b, 5x2 + 3x + 9.2x3 - bx2 + 5x - 9| 4. e TR =0
Torfire U@ @@ o, fGoAR, fasd e veded iy gl PR "
Tonfi o 2@ | @ A AmeTn (+) for wewt (-) B | Solver —— + I
foea B oz WA wewfers | Swrmerran @ AW vgd x-a x-b _x  3a+bh)
afe (+) @ (-) Bz 7 @ Aafee 4% om wwe ) " 3 ¥ a 2+ b BE@G+ D
e @ AfE vedad afE = ) Py FEETH
T, + - -3=0
1. X4%oq b T
X —-a x-b X
Solve: X +%=) w,[ b "")*( a "J‘“(fub")
¥ bx+ax=1 =
ab W(x—a—b]+(x—b—a)+(x—a—b]
= ax+bx=ab £ b a a+b
= x{la+b)=ab =01 . :
o 5 Ans] W,(x—a-b)(3+ - a—+£)=0
ﬁwﬁgw:iJri: x e 37, (£+%+a+b)—aam-ﬁ7
= bx+ax=ab [ G 9CF ab TR 1 IR RTIY TR
= x(a+b)=ab Ter, x-a-b=0
sx=a+b
x=— oplAns] . fTd% 74T x = a + b [Ans]
2. 5x+3y-7¢r4'4x+5y 3 T, xEymis 8x+37+29—7x=4(x+3)
THFS? ' 18 5x - 12 9
Solve: 5x+ 3y=7 A, 25x+ 15y =35[5 wran o9 #ea] Solve: 8x + 37 29-7x _Hx+3)
4x+5Sy=3 W, 12x+ 15y = 9[3 @71 o9 ¥A] 18 5x - 12 9
(«F (= (=) 29 - 7x _ 4x + 12_8x+ 37
I3x =26 (Ram x =12 4 18
Ry o 29-7x _ 8x+24-8x-37
i y=_,} [Ans] "5x =12 18
29 - 7x -13
3. 2x7—~9+x;5=x;3 6x2-1|-1 W'Sx——12= 13
Saina: 1, 18(29 - 7x) = - 13(5x - 12)
b 0\ g Ty el 6 M, 522 - 126x = -65x + 156
e W O q, - 126x + 65x = 156 - 522

o,

-6lx= -366

oo




IR = L ey Bl nedl o

s = ¢

Ty
AR d e
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- 366
,x—_61 =06
- f4rda 0T x = 6 [Ans]
6. 1 + 2 = 3
x-1 x-2 x -3
1 2 3
Solve: x—1+x—2=x-3
1 2 _ 1 + 2
‘vl =2 x43rx =8
I r ' 3> 3
T e T
Wx—3—x+1_2x—4—2x+6
"(x-1)x-3)  (x-3)Nx-2)
= -2 - 2
" (x=1)(x-3)  (x-3)(x-2)
W,—-_-i= 2 g e (x - 3) WA 99 T
x -1 =2
a—L = L g w2 v o v
x -1 x -2
Wx-1=-x+2
Ax+x=2+1
A, 2x=3
3 1 1
Wx=35=1; ﬁzﬂwwmlezmnsj
7 4 2 5 3 9
Y oox s R R B % =l
4 3 9
Solveswrrr g e Y
4 3 4 -~ A28
e Ity d . xy
4 $= 4 o5 3
‘x + 1 x+3—x—] &=
4 e ud 5
‘x+1-x—]_x—}'—x+3
4x—-1)-4(x+ 1)
o (x4 I)x-1)
_ S(x+3)-5(x-1)
T (x-I)x+3)
4x—4—4x—4_5x+]5—5x+5
P x+ I)x-1)  (x=1)(x+ 3)
@ ] o 20
(x + I)x-1)  (x-1)(x+ 3)
a, - 8 20

x+1=x+3

(BT THCE (x - 1) WA YT FR]

aT’):+1’=x+

-2 3

3 [B&7 FFTF 4 TR ©r PR

P, S5x+5=-2x-6
q,5x+2x= -6-5

N7% = =11
M, x'= —%:
ez e x

4
_]7

== I; [Ans]

8 10 2 1 . 18
L T e o St o
10 rd 18
Solve: 2x—5+x+5_3x-5
10 1 5 3
A + =
sz_j 8 5] 3.x—5+3x-5
. 10 15 3 1

93 32~5 Ix-5 x4+ S5
30x - 50 - 30x + 75

(2x - 5)(3x - 5)
3x+15-3x+35
(3% - 5)(x + 5)

2

- 25 = 20
Y (2x-5)(3x-5) ~ (3x-5)(x + 5)
23 -8 [ ©SF 7T (3x — 5) @A T FA ]
s 5 4 x —5) w&r I
T - - [ESx 7% 5 w1 ©r FA]

Pe=5 x+ 5
9,8 -20=5x+ 25
9,8 -5x=25+20

X, 3x=45

Mx=L=15

. [t 4 x = 15 [Ans]
9 4 s 15 _ 35

2x + 3 5x + 4 7x + 6
Solve: - 1 e soies

Y 2%+ 3 x4 I w0

a1 4 4 Y o] 2 14 . 21

*x .3 Sx+ 4 Txet 64 7% 40

4 4 21 15

BTy 7 70 +6 " Tx+6 5x+4
28x + 24-28x-42
"(2x + 3)(7x + 6)
105x + 84 - 105x - 90
(7x + 6)(5x + 4)

-18 x -6
' (2x + 3)(7x +6)  (5x+ 4)(7x + 6)
- 18 -6
T, 5% 3 TV [ Bom THCE (7x + 6) WA YT IR ]

3 1
W,2x+3 = 5x+4{mvrw-6msmm]

I, I5x+12=2x+3
qAISx-2x=3-12

9, 13x= -9
-9
W,x=—]T
<. FTf T x = T5[Ans]
4 9 25
10. 2x + 17 3x +2  5x+ 4
Solve: £ + g - =
on 2y I3 SxR ¢
i ¥ gy B
"I+ 1 3Ix+2 " Sx+4 Sx+4
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aeithe ss 40 g xB3 eV 2 8

%2 ¥ 1, Skekd” SxE £ IxE.2

20x + 16 - 20x - 10

o (2x + 1)(5x + 4)

45x + 30 —45x - 36

(5x + 4)(3x + 2)
6

-0

" (3x + 2)(5x + 4)

"x+ 1)(5x+4)
6 -~ &
% T 3x 2

* B 1 [E%7 THTF (Sx+4) TR 19 =]

by - 1

W,2x+ i g Z[WWGWWW]

A, 3x+2= -2x-1
P, 3x+2x= -1-2
- —3

91, x——

3 . fAeda s x =-—-[Ans]

;-——5 Tx+ 2
A, 5(x+2)=2(x-5)
A, 5x+ 10=2x-10
9, 5x-2x= -10-10
F,3x= -20

=20 _ 2
Wx=——= -6

<. PR 0T x = -6 [Ans]

x - b
b2 - a2

X =z8
12. =

X =

Solve:

STEET A W

x-a+x-b

W=l
a? - p2

W x-a+x-b=0

A 2x=a+b

a+b ﬁ?‘fﬂwmx—“—m,”]

Scanned by: Mozahidul Islam, Ctg
fb: Dream-Catcher Mozahid

My fb group: BCS Preparation (Preli,

X - a x—2a__x—3a

a 2a b 3a
- -2 =3

Solve:xaa+x P k..

2a 3a
- 6a(x —a) - 6a(x - 2a)

7 a 2a

=6_a(x&1;3¢2 [ B% TFCE 6a WA 4T P WL |
9, 6(x-a) + 3(x-2a) = 2(x-3a)
91, 6x —6a + 3x —6a = 2x - 6a

3.

9, 6x + 3x —2x = 6a + 6a - 6a
91, 7x = 6a
ar,;:%" ﬁzefwmmx——mns]
a x-b x-c¢
N Wﬂﬁ?{ﬂsb+c c + a a-t-b_3
x—-a x-b x-c
Solve : b+c c+a a+b_3
g =l R SR R
b+ c c+a a+b
@ x—a-b-c¢c x-b-c-a
! b+ c c+a
x—c—a-b>b
a+ b =4

1
W mE@-b C)(b+c c+a+a+b) e

1 1 1
‘gm’b+c c+a+ # 0 [FRe x IS 7+

a+b
Toq1, x—a-b-c=0
. e e x=a+ b + c [Ans]
X +a_ x+b_(a+bh)?
a+b a-b a2-bp?
x+a)la-b)+ (x+ b)a+ b
Solve:( )l = +)b)(¢£—b) N )

_(a+b)?
Ta?-p?

A, ax+a’—bx—ab+ax+ab+ bx+ b2

=a? + 2ab + b? [ EoT TF (a2 - b2) WA
19 ¥ |

0, 2ax+a2+b2=a2+zab+b2
A, 2ax=a®+ 2ab+ b? —a? - b2
WJ 2ax = 2ab

15.

ng—b

fedx M4 x = b [Ans]

1 1 fbhle 1
2% 5 ' Bx Skl 2% = T .2x - 9
2z -0+ T8, T 2k
(2x - 5)(2x - 11) ~ (2x < 7)f2x— 9)

4x - 16
4x? - 22x — 10x + 55
. 4x — 16
T 4x% - |8x — I4x + 63

dx = 16 5 4x =16
4x2 - 32x + 55 4x2-32x + 63

16.

Solve

4,

w)

PB-ve

Written, Viva) + Library




S e
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4x-16 4x - 16
b 32x+55_4x2—32x+63=0 20. %=5
1 - - X
0, (4 ( A
(fz=d0) 32x+55 4x2 —32x + 63 Vs +Vs —x
=0 Solve: =3
; y V5-Vs-x
T, 43T —32x + 55 42 -322+ 63 70 S CTEE —x+V_5—*/5-x
7T, 4x 16 = 0 \/_ Vs—x-Vs+V5-2x
d, 4x=16 g .20
16 =57 [ e — R |
X===
-~ o el d
I x = 4 [Ans] d Wl AT Y 2
17. wm w22, 1 _, 2x=-1 (25-——x)
: 5 i g T = Vs P 9
Solve: x—;—-g+§=x—2x3—"’ N5 - x 4
3x-6+4 3x-2x+1 L
F e 12 e g (5-x "4
5 2 I B o W, 45-9x=20
F—— T I
12 3 25
W; 9 =25 ==
S \%-6=1%F 12 = Eoridn ]
= %%-12x=12+6 21. Wmm32§+“3’—=1,£+1=11
= =3Ix=2]8 3 2
s =B fAng] Solve: %4-333:1 .......... (i)
- =
18. x.._,; 0 §+;}=1 ........... (ii)
X+ 2y =1 1 " ) 1 1
(i) x 5=(i)x==2-2 = Z_2
Salve:‘z-=.-;* ..................... (i) 4 39 12 =4 —& 52 6
Ay =uyy =l = .
R (i) =786 -6 = WEslespec
(i) Wssll =39 it in e 00IS (iii) : J2_5+ %___1 [ (i) - y @7 T I |
(ii) JCC—3y + 2y = 10 [x = 3y] $ 6
y=2 sl
(iii)m—-x—32—6 T
g T
y—2 [Ans] =>x=g
(G 2 SN TAIAUT T ALY 1] 5
V- 14 F < » n=(2 %) 1ans]
19. FEE I: =5 g e ’
Y e R 23. "5+ - =1 e
g o Vx-I1+Vx-6 P .
Vx-1-Vx-6 Solves 5+ 7 25=1%
.qr\/x—1+\/x—6+'\/x-l—\fx—6 152 ]4102 i
» -+ -
\/x—1+\lx-6—\/x—-1+\,x—6 a” % 10 tr =I
=55+;[@mﬁmﬁ] I, 10x=10-15
= 1
R ) ¥ x5-7{aed
. T . 23. iR T -
= X+2y-z2=5
?T,Z\/x—l—3\fx—6 2x +3y+z=11
A, Hx-1)=9x-6) [T 7@ ] 3X-y+32=17
I dx—4 = 9x ~ 54 Solve: x-% 2yp= 7 = 5 Snneiit., (i)
W dx-9x=-54+4 §x+ 3y +3Z =;I ............. (ii)
a5 = BN b 32 = 7 errrrernaseesse (B5E)
I -5x=-50 . x=10 [Ans] g M

-0y

I
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IX:F 0= B0 iinisin (iv)
(ii) x 3 —(iii) x 1 TC&

(iv) = (v) T®

-5y=-10

ay=2

(iv) T©

x =2

qR(i) 9x 8y GF T I z= 1
W x=2,y=29Rz=1[Ans]

24, WG IFF s ax-cy =0
ay - cx = a? - ¢2
Solvee: e o SN, R (i)
ay-cx=a’-c2..... (ii)

form (i) - x = %2

ay-c(gf) =a?-¢2
A, aly—c?y=a(a? - c?) [Cem mEwa oAl o 7]
A, Wa’-c?)=ala®-c2)
: =

a

ca

===c
a

% (xy)=(ca)fAns]
25. ax2+bx+c=0
Solve: ax?> + bx +c =0

2

= x +—=- [CSTITF a WA S I
bx b2 b ¢
x2
= 2+ 4 m e [W—a,mm]
2 2
b* - 4ac
= (x+—) 4a2
g x+£_+_—M
7 2a
_—_, x__j{_'_\ibz—f#ac b + Vb2 - 4ac
=520 2a W 2a
= -
g b:tzab aC(An)
26, x2 -5x+6=0
Solve: x> ~5x + 6 =0
= -3x-2x+6=0
= x(x-3)-2(x-3)=0
= (x=3)x-2)=0
= x=3=0 =Sx=2=0
= x=3 =x=2
Ansix=3 2

WY, THAER AWUR AMATT  TYWIIR NG Sreit
f% (Middle Term Method) /4% ¥al
Trg | wifiren ra AT qBim T I
T @A—

X -5x+6=0
= xX-dx+4-x+2=0
= (X-4dx+4)-1(x-2)=0

= (x=2)x-3)=0
R =R = Or,
x="2 %
x=30r, 2 [Ans]
L, mﬁwmmmmmq
(Standard Equation) 357t st abiz wwig=
T eg | e AR afte ot Wl sifwaaft
TR 8
ax +bx+c=0
—b + Vb2 - 4ac

2

x—-3=0
=3

R, x =
F TR

G, 2 -5x+6=0

S +(-5x+6=0TT ax2 +bx+c=0
1P

qREMTa=1,b=-5c=6

i i 5;+\)(-5)2 4.1.6
5::‘\'25 24

W 1 72 ATE I

= 2%2-6x+5x-15=0
= 2x(x-3)+5(x-3)=0
= (x-3)2x+5)=0
=

x-3=0 Or, 2x+5=0
= x=-—§

ns: (3,—%)
,\/1 ekt ol @
" X 6

Solve: (\/Ix ’\/TZ (”)

Exh I—x Ar . _ 169
I— x 36
2+ (1-x)® 169 2_2

x(l—x) e s 36
=’2x —2x+1_97
x —x2 36
= 72x% — 72x + 36 = 97x — 972
= 169x% - 169x + 36 = 0

_169 = V{(-169)% - 4.169.36)

169 x 2
_ 169 +V4225 _13(13+5) 13+5
169 x 2 169 x2 26
¥+ 5018 2%
bk 19 26 ¥ s

9
W ]3 [Ans]

PB-va
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JriafE 18850
29. y+‘\/x-—6,xy-36

Solve: (ii) 2=, xy = 36

Ve BT
i ik 36 x
,fx_M/.ié__

- 36 26
+

- E B
65°x Y06
= x2+36=ﬁ
6x 6
= :36 13[hm6wwm]
= x2+36=13x
= x-13x+36=0
= x(x-9)-4(x-9)=0
= (x=9)(x-4)=0
= x=90rx=4
JIq, x =9 T4, x = 4
_36 _36
Y= )%
— 'y=3—6 = y=ﬁ
9 4
= y=4 = y=9

- faedm FwaE: (x, y) = (4.9), (9,4) [Ans]

e 8 ot st

1. If3<x<7and5 >y > 2, which of the
following must be true?
@x+y>8 ®x-y>0
©x-2y<2 v @2x-y>1
Solve: 3<x<7
=6<2x< 14 [299 99 H ]
S5y
= 5<-y<-2 [~] UF 99 ]

I <2x—y< 12 (M1 )
v 1<2x—y<i2=1<2x-yand2x-y <12
So, 1 <2x-y
= 2x-y>1
2. IfX>2and Y >-1, Then
@XxXY>-2 v ®-X<2Y
©XY<-2 @-X>2Y
Solve: x > 2

(i) [ ©SF ATF 1 QR 99 T |

==X <=2 s

y>-1
=22y>=2 e (ii) [ ©OF 9TF 2 WAl 9 F ]
THEAY (i) 6 (i) T2 47 S B @re—
—-x<—-2<2y
so=x<2y
3. If3 <x <8 and 5 <y < 11, whichs of

the following represents all possible
values of xy?
@3<xy<ll ®8<xy<19
© 15<xy<88 @ 24 <xy<55
Solve: 3 <x< 8
S<y<lil

15 <xy < 88 (9 ¥T3)
4, If-3t+ 8>t~ 6, then

@t>1 ®t>%
1 7
\ ©t<2 ©t<—2
Solve: —3t+8>1t-6
=—-4t>-14
=4t < 14 [- 1 @3 &FCH]
t<1—4
e
7
=aI< 5
5. If 4x - 7 < 2x + 13, then which of the
following must be true?
@x>7 ®x>13
v ©x<10 @x<6

dx -7 <2x+ 13
=4x-2x< 13+7

=2x <20
=x< 10

6. If b <2 and 2x - 3b = 0, which of the
following must be true?

Solve:

@x>- ®x<2
©x=3 v @x<3
Solve: 2x-3b =0
='2x="3b
=.s)c=ﬁ
2
B %

b GANT2 TWOA, x = 22=3.w3baaw2

G T 0T x 99 S8 3 G (BF FH AF |
7. Which of the following inequalities Iis
equivalent to 10 - 2x > 18?
@x>14 ®x>-4
©x>4 v @x<-4
Solve: 10 - 2x > 18
=-2x>18-10

=-2x>8
=.>—-x>§
2
=x<—4[-1 97 o9/
8. If3-2x< 7, then
@x<2
©x<-2
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Solve: 3-2x<7
=>-2x<7-3 =:—x$4§
==-x52
=x2-2
9. If m > n, n < p and n > 0, which of the
following must be true?

@ mn > p? v ® mp > n?

© pn>m? @ mn > np
Solve: n<p
=p>n
m>n

pm > n? [99 F3]
10. If x* = 68, which of the following could
be true?
vV @-9<x<-8
©-8<x<8
Solve: x2 = 68
ax=:t&2@’f¥'f¢@)
x G0 7 8.2 ¥AIGF S 4AIGF W MA| ©If AT
&7 (a) _
11. If a > b and ab < 0, which of the
following must be positive?
@b2-a? ® ab
v ©@a+b @b/a
Solve: ab<0 97 WA a 4R b 97 @ P17 b7 I+
Negative 1 0 G673 &b T3 | 94918 a > 0 TA b<0
G, a< 03T h> 03T
W, a>b 9Rab<0 T a>0,b<0 I/

12. If ab > 0 and a < 0, which of the
following is negative?

@-a v ®b
©-b @ (a-b)
Solve: a < 0 TNH, a 97 919 Netative
ab > 0 WTH, b 43 7 Negative.

13. If xyz < 0 and z < 0 then which of the
following must always be true?

@xy>0 ® xy<0
VvV ©xy>z @xy<z
Solve: xyz < 0 FTF xyz Negative,
Z < 0 91tA Z Negative.
v (c) =4 xy > z A Z Negative ﬁ? xyz Negative
WS xy Positive.
xy = Possitive
z = Negative
ooXy>z
14. If xy > 0 and y < 0, which of the
following is positive?

®-8<x<-7
@9<x<10

@x-y ®x+y
©£X-;102 ©§x;—2)

Solve: y < 0 L7 Y — Negative
xy > 0 T xy — Possitive ©1% x 97 J19 Negative
T2 xy possitive.

15. If a < 0 and b > 0, then which of the
following is true?

I.ab-(a+b)>0
II.Lab-(a+b)<0
IIl.Lab-(a+b)=0

@ Only I Y ®Onlyll
©BothI &1I @ Both I and II
® &I
Solve: a < 0 T a — Negative 93 b > 0 T b —
Possitive.

oA a=~1qRb = | 47 7 PA—
(B)—1x1—(-1+1)<0 T I Negative 932 0
97 5T ' |

16. x, y, & z are consectutive integers. If 0 <
X <y <zand (x + y + z) is an odd
integer, which of the following could be
the value of z?

2 ®3
v ©4 @5

Solve: x, y, z are consecutive integer and 0 < x <y < z
means all values are possitive. We have to find out x
+y+ zis odd integer. So, ifx=2,y=3andz = 4,
thenx + y+z=2+ 3+ 4 =29, which is a odd
integer. So z = 4.

17. If A & B are positive and A > B, which of
the following is true?

@5-A>6-B ®6-A>6-B
B, A S 3
VO-3>73 @x>3

Solve: A and B is possitive and A is greater than B. So

we can use value of A = 2 and B = 1. So. (c)_% o e

2,7
7 IS frue.

18. If x > 1, which of the following decreases
as x decreases?

I $aud 0 -z 0O =5

x2 + 1
@ only I v ®bothl &Il
© only II @ only IIT

Solve: x = 2 317,
(i)2+4=6; (ii)2.22-2=6;

(iii) é,— g x=3zm,
(i) 12; (ii) 15; (iii) ]]—0
HOIR x 99 value FIIF F (i) 6 (ii) <99 9 IH

LR

19. If a > b and a > ¢ which of the following
must be grater than 0?

b-c c—-b
@b+c ®a—b
b-c¢ b—a
©b——a ‘I©c—a
Solve: a>b
=20>b-a
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dRa>c s 64<(5+6)(5+1)<8I
= 0>c-a =064<(5+6)(5+1)<8I
b-a =04< 1l x6<8]
w d o =24
(‘)C“ﬂ =064 <66 <81
=NFE—‘" AVE _ possitive 25. 1f 10 > x > 9 and x% = (10 - y)(10 + y
< g which of the followings is a  possib
. el gREY value of y?
. -7 -6
21. If n # 0, which of the following would be ® ®
true? v ©3 v @4
L2n<n? ILn’<-n IL2n<n Solve: 10> x > 9
@ I only ® I & Il only = 100 > 2 > 81 [?F ¥
Vv ©1andIII only @1Iand

Solve: n #0 WA n 97 17 0 47 &b R I/
n =13 (i), (ii) 932 (iii) @7
R, n = — 1 T, (i) 7%, (ii) QT 93 (iii) TeT |

x2 97 T 81 /TF IT 432 100 (T @b
ST T,
2 =(10-y)(10 +y)

22, If a>0,b <0, and ¢ > a which of the = 100 > x2 > 81 (1 73]
fol;owi‘)ng must be poss:)tivec? x2 97 W7 81 (RTF IT 4R 100 (ATF &F
@;—g @;-g TR O, x% = (10 - y)(10 + y)
c-b a-b =x2=102-y?
€ 0 =x?=100-y?
N @Z . @Cai"b Q¥T y @7 T 3 4R 4 P 100 > x2 > 81
Solve: a > 0, b <0 — b 9% 7 Negative, a1 g3 A | ©1F ABF T&A (c) 6 (d)
c>a 26. If xyz < 0 and x < 0, then which of the
=c-a>0 following must always be true?
=a-c<0 @xy>0 ®xy<0
g FE e ML, c > a > 0> b. ©xy>z @xy<z
%_a Solve:x < 0 ST GINH x 9T T FINGF |
(c) € (ST EICR, ot I, %—a = Negative 4 Negative x Possitive = Negative
a - ¢ = Netgaitve. YR, Negative x {(+ xy) Possitive] = Negative
. Negative |, ... Effe TIPACIR ¥ (A) 43¢ (C) TexE AT
" Negative j o7/
23. If x is less than y which of the following E y = s
numbers must be greater than x and less 1o Wh;ch of the following is a solution to x
ﬂlall 9 + X* = 1?
- 1
R R BT @-1 ®3
v @onlyl @® only II ©1 v @ None
©1and I @ IandII Solvee: x + x° = |
Solve: x <y T x 97 W14 y 47 &G/ - i S NS
(i) 1.5 (i) I; (i)~ 3. =r+x-1=0
? ORI, x = -2 @@y = - | T, R /I ) RS S £
, o 2y (=2 alcd)e ol 5 B3 : 2.1 2
) () ol 2 i il [ax? +bx+c=0
| ay =0 _=2_ o x = foom iR |
i 2 2 28. If x <z & x < y, which of the following
i « 0% BER A statements are always true? Assume x < 0.
: (iii) 3. Ly<z 1ILx<yx IL2x<y+z
a 24. 18 <V {(n+6)(n+1)} <9, then n would be @ Only 1 ® Only II
equal to v © Only Il @ II & 111 only
s v @5 ®6 Solve: x < z
1 ©7 @8 x<y
A Solve: 8 < \(n + 6)(n+1) <9
g =64 < (n+6)(n+ 1)< 81 7T 7c] x+x<z+y (@ FER)
IMin=5 WA, n2x<z+y
NMiee—ir—rc —  —————
- 2 = — —=
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29. If a > b > ¢, then which of the following
must be true?

@2a>b+c ®4-b>a-c
©a>b+c @2a=b+c

Solve: a > b
a>cC
2a > b+ ¢ (@ FF)

30. If x is an integer and y = 9x + 13, what is
the greatests value of x for which y is
less than 100?

@ 12 ® 11
© 10 N @9

Solve:According to the Question—
9x + 13 < 100
=9 < 100-13
= 9x < 87
=2XxX< 9

6
= x<H )
- x = 9 because x is a integer.

31. Nasreen weights x pounds, where x is a
whole number. If she gains 7 pounds, she
will weight less than 120 pounds. If she
gains 9 pounds, she will weight more than
120 pounds. What is Nasreen’s weight in
pounds?

@ 110 ® 111
v @112 @ 113

Solve:According to the Question—

R ET<I20<x+9.

(x + 8) is a equation which is only one integer
berween (x + 7) and (x + 9).

So, x+8=120

=112

32.

Solve:

33.

Solve:

34.
v

If x < - 1, then which of the following
must be true?

@x>x>x ®x2>x>x
©x2>x>x3 @ x>x3>x2
Let, x =—2 because x < — |

x % T 9 (c) <@ (FEL AT
.r:>_x>13=(-2)2>—2>—23
=4>-2>-8

If 3x — 4y > 2x + 7y, then which of the
following must be true?

@x>0 ®y>0

©x>y @x<y
3x—4y>2x + Ty

=3x-2x>7y+ 4y

=k iy 25y

If a <b and ¢ < d, then which of the
following must be true?

@-c—a>-d-»b ®a+b<c+d

©a=c @b=d
Solve:According to the question—

a<b

c<d

a+c<b+d (@ IE)
—a-c>-b-d (-1 WA T )

35. If you buy x apples at a cost of Tk. (y +
1.5) per piece and y oranges at a cost of
Tk. (x + 1.5) per piece, and you spend
higher amount of money on buying
appless,then which of the following is
true?

v @x>y ®y<x

©x=y @x>y+3

Solve: According to the question—

36.

x(y+ 1.5) > y(x + 1.5)

=xy+ L.5x 5> xy + £S5y

=215x> 15y

—

If x is a positive integer and y > - 2,
which of the following must be positive?

@ 3x + 4y @%‘!
2
O @ xy

Solve: y > —2, I y @7 §19 — I T, possitive P17 T

37

T wrq, fAfsesy I ICm A1 AL GV
Possitive TA| &F:a S ¢
Ifa>0,b<0,c>1andd < 1, which of
the following must be true?

@ ab>cd ®ab<cd

© ac > bd @ ac <bd

Solve:We have to find out Must be true option.

38.

v ©x-y=5

So,ifa=2b=-1,¢c=2d=-2, then, ab=-2
and cd = —4.

. ab > ed GRITA (a) True.

W9, a=b A, ab=-6 9Rcd =—4.

< ab < cd @A (b) True.

HeAR 7l X FIAT () TR FIHS GFL T™fEr©
True T |

-~ Answer — None of these.

If x 28 and y £ 3, then which of the
following must be true?

®§= ®x+ys<ll
@ xy<24

Solve: Here, x 2 8

¥

Andy <3
= -y23
= —-y=-3
x28
-y=2-3

x—y25 (@9 FF)

FMATAZ Y A
x2 4+ x =2 > 0 SFASIbA A I

Solve: 2 +x-2>0

02 +2x—x-2>0
Wox(x+2)-1(x+2)>0




i
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A, (x+2)(x=1)>0
2y GOy W W GO W [T/
HHNGP T, x> -2; x> 1

o ]
GR VNI AT, x<-2;x< 1

XS =2
- [T T x> 1 W9 x < -2

2. x%-5x+6>0 wHTSIbA ANYT FFA|
Solve: x2 —5x + 6 > 0

W x2-3x-2x+6>0

W, x(x-3)-2(x-3)>0

M, (x-3)x-2)>0

3y Ty GHUF W TSY HNGEF T/

FHNHF I, x> 3; x> 2 B

2 et
G WGP T, x < 3; x < 2

e

- 9T T x> 3 WA x < 2

3. x2-3x-10> 0 SEWSIba AR IgA |
Solve: x? -3x-10> 0
W22 -5x+2x=-10>0
WM, x(x=35)+2(x=5)>0
A, (x-5)x+2)>0
ZY ToF GG §oF TOF VNGE T/
FHNGP 2T, x> -2, x> 5

SR
G HNGF T, x<-2;x< 5

LXx<=2
o T T x> 5 WA x < - 2

4. x?-3x+2<0wwelfba ANGH IFA|
Solve: x> -3x + 2 <0

W22 -2x-x+2<0

q,ox(x=2)-1(x-2)< 0

XA (x-2)x=-1)<0

3T e

T (x - 2) THNGE 972 (x — 1) ¥ITF |

I, (x - 2) WNGE G2 (x — 1) THNGF |

QAT ST M, x-2>04Rx-1<0

T T s
WRT T NS, x-2<0GPRx~1>0

X2 Em x> ]
- fedm Fmem: 1 < x <2
99, (x e R: 1 < x < 2} (Ans.)

5. 4o Qd 5 519 v X it @32 8 B W (x
+ 4% e RFrae)| E 0 w97 Bt TE,
it afb ¢ifee R

Solve: xfb cifeg w1 Sx G191 €32 (x + 4)fF Wrom w1y
8(x + 4) bt
TS, S5x + 8(x + 4) <97
A, Sx+8x+32<97

X, 13x <97 -32

q, 13x <65
65
91, XSE
) S e
Ans: @ 5&F 576 oafm ez
6. b ARr-a@wix FRvEe (x - 3) FW™
TR AT @32 519 ¢ B w40 @fem @t ws
LIl
Solve: 4x + (x — 3) £ 40
q,4x+x-3 40
N, 5x-3 <40
A, 5x-3+3<40+ 3

T, 5x <43

AT &g woryer:
1. =-3<x<2 Sueifbte *aaua IITR I@ oI
I

Solve: -3 <x<?2
1

1 ]
?F,—3+2<x+2<2+2

12221 o v
2 2
) )
?n',—2<x+2<2
5

x+1— i
2 2

| 2x + ]I<5[Ans]
2. -T7<x<-1 SAveifbed sz B w7
TR LI I N

Solve: -7 <x<-1 ['_7

a,

+(=1) —-7-1
2 aie
=-g=-4ﬁmm]
q,-7+4<x+4<-1+4

W, -3<x+4<3 | x+4|<3 [Ans]

3. | x + 3 |<5ower wam @
Solve: | x + 3 | <5 (x+3) wrge =,
x+3<5

W x+3-3<5-3 [ o 1w 3 Rt w3 ]
W rx<c? - x<?
RE, (x + 3) ¥NQe T, —(x+3)< 5
WA.(x+3)>-5
W x+3-3>-5-3 [ CoF 0w 3 R 3@ ]
A, x>-8
S =8
. TR T ¢ {xe R: ~8 <x <2 ) [Ans]
4. | x - 5| <4 owetda wam 37 |
Salve:|x—51<4
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(x-5) EGF T, x-5<4
T, x-5+5<4+5 [CTWFS QANIA]
H.x<9
(x=5) ¥IGF 2, — (x-35) <4
I x-5>-4
W, x—5+5>-4+5 [ OO NF 5 A I |
Mx>T
. fArdm A ¢ 1 <x<9
w9, {xe R: 1 <x<9)]
1
|x 1|

< 2 TSI A I |

<2

Solve:

(x=-1) =2

?f,1<2(x 1)

Pl <2x-2

W, 1+2<2x-2+2[COMMF2AITA]
qA,2x>3

W,x>%

eal,

I - () <2

{x—l)
1

=
qq, >-2(x-1)

W, 1>-2x+2

A I-2>-2x+2-2 [ C=x % 2 Ram 37|
qq,-1>-2x

W,x(%
I 5
. faeda e x<5m x>'2'

41, >-2
X

g4, {Jt:.':'R.'Jc<i

ZWW. x>-';-}

EEC R EUDIEEL]
AR AN

Xx+y=>5 a3 APt | @A x ¢ y G w@=
At e | 9} e q3h gIue REE | @y
TR TEm AN |

@9, X +y =5 @R x — y = 3 TRt @ aF@
fras 3@ Tey AN WS AN FRATAATEA
T x =4,y = 1 7R Ten Adgad gAvie iy |
R WA wE GRS Adead By g, e
TF GF@ FPNFAT I T AR A GINS
RS T TRt ¢ TR AANEA A |

% veeiats uE W wltemem TR
sperfestenia ey feea Ao STan 4 Z9:

afsRiaT Aryfs
ﬁwﬁwmmﬂmu@aﬁwwmw

(a)mWQcmm@mwﬁmm
oAb WO 43I0 41|

(b) W ANIAS AS FAIA A W IR 9T
PAIAMS HAFAT TNLR T |

© fdfe wmigE awg e 12t @E @ ihee
FE o e W [ T

A

(3) X + 2y =9 --eeenenn (i)
2k =y = 3 -eeee- (i)

TRYIT
(ii) 7 NPT e ME
y=2x—3 - (iii)
(i) ¢ TP y 47 TA IFH ML
x+4x-6=9
x=3
@3 x 97 T (iii) T2 4 I N,
=2x3-3=3
faedfa T4 (x, y) = (3, 3)

e =g -

S, (x-y,3)=(0, x +2y) T (x,y) = FO [00®F
fifigs) Ams: x,y) =(1,1

2 3X -7y + 10 =0 @R y - 2x - 3 = 0 97 ANYH

[o3ex 547 Ans: x=-1,y=1
e x, 3_ 2
o. 3—y—1uﬁl4+y-—3m(x,y)—"ﬁ5?
Ans: 2, 6
8, MY IA: ax-by=ab
ab - ab

bx —ay = ab Ans: (a T T

AT A

0% Afere fTea Qe SPRY I AAIE T
T : ‘

(F) oMg Ty AT auw 2 Ay A AP AR
JRFEF o FACS FI @F A qF v
FRE A 2 |

@) @3 vocea WE AN 8«2 BERES @
FHead 47rR o, swew @ FEe |
Rrameage ([ @UERge) At @I 3
RIS FaE AN TR |

(%) W ANFRY AR e seeiva W fda @

(}) 91S poIaa W 298 LRI @I ARPa B
9@ FeCR WM ffw w4t

3., TNME I :
Sx~3y'=9
Ix -5y=-1

A : WG AAFAL
=0y = B isosetror k1)

1&1—8\5




3x-5y=-1 (2)
FFRE (1) @ 5 QR G2 TR (2) @ 3 TR I AT
25x - 15y = 45
9x — 15y = -3
(G 0 I )
16x = 48 [zt 3]

# x=3
TFRY (1) @ x 93 T I 1L,
5x3-3y=9
qA,15-3y=9
A, -3y=9-15
qA, -3y=-6
-6
W.y:—-j
y=2.
(x,y)=(,2).

e =g -

1. S 3 -

+
< W<
Il

-%: 1 w3‘-+%=3m, (X, y) =987

4
Ans. 6, 2

W |

b [

Ans. 4, 2

wigaas Amafs Tt Fge ufe:

726 Adead Rt I 417
ajx+byy+c;=0
ax+byy+cy=0 (2)
TAE ANPIAT AL FAE AL,
X B y
bpecp-bpey c¢1az-cpag
1
3 Tap by -ag by
bjc2-bacg
‘ * a1 by —ay by
™ _cjpap—cpaj
Y=a1 by —ap by
) W{ﬁmwm'ﬁ:
| 3x-4y =0
| 2x -3y =-1
AN : EHG ANPAVEH,
3x —4y =0
21-3yy=—l}m’ 2x - 3y
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1
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]
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T (x, y) = (4, 3)

ﬁm'@'ﬂﬁ:
I. WM P : 6x—y=19R3x+2y=13
Ans. 1, 5
3x

s Bt ke P 5
2 Wmﬂ.2+3—8ﬂ3§4 3y=-3
Ans. 12, 6

FFSBEF AA AZARNFAY 457 '8 AN -

Rule-1

1. 10 3%R 44 Prot e Jram T were fm 48 11
10 F=R 73 Pret '8 ram TWER AOTS 20T 28 11
Pret e oram 3¢ 3 fadfa w9

ST : Ve PR, I el 7 x I&F 998 [AT TA

y J&H
ST WOIPAR, (x—10) : (y-10)=4: 1
x=10_4
'y~ 101
P, x—10=4y—-40
{,x—4y=10-40

o &= A= |

sximdy =t 30 (1)

F AEPAA, (x+ 10): (y+10)=2: 1
Xl 2
'y + 10" 1

,x+10=2y+20

A, x-2y=20-10

& k-2
FqFR9 (1) 8 (2) T® T,

x—4y=-30

x=-2y=10

P ==

-2y = — 40 [Rz @)

- 40
SYFiE g =20

y 47 T FNRI (2) 4 I NE,
x=2x20=10

I, x=10+40

x50

1A Prerm 9 50 I—A 32 @R T 20 TR |

- 88
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2. b A g Prow T raa IaeE wivgd )
W qed 47 Prew I e wew e w3
G FIF [ IS ?

FAYIT : T F14,

I AT 7 x J'9 6 @I WA y J&A |
ST METNMR x -8 =8(y—8) oovvuee (1)
a3 T ST, x + 10 = 2(y + 10) ..... (2)
(1) @ Mg, x-8=38y-64
T, x=8-64+8
T, x=8y—56...(3)
(2) TWEAME, x+10=2y+ 20
q, 8y—56+ 10 =2y +20[(3) TS x 47 N7 I
A, 8y-2y=20+56-10
T, 6y=66
;A oy=1
(3) TS NE, x=8x1]-56=88-56=32
qEICH e IR 32 I 6 J0d9 79 11 JH

ﬁm“fh
1. YoR 6N I R YR IR IAGW ANLA
PR | 5 I R WOR I/ & [ INF INCH
TS5y Rt x| oW IR A FO© !
8. [wo =]
3. 5 3ER d el e TR WeW wAre @@ 31 a3
15 T2 “7 Proi-<ram [WeR wAe el 2:1 | B
@ @R I6AW [ 6T 7
B, i IHH ve ILF TR ITA ¢ TR

Rule-2

1. W2 TS @ AR SRR o A 5
@ T @EE TR AR iE WA W
fomge | W Anfba s ww R{fem w9 @
A “MeT AR, B Yo AW (ATF 9 IW AN
Aifs fada =a)

YT - T IR,

fardfa Tanfba wIF RN TP x IR GIF R

er y | qO«Y, FRIM 10x + y.

ST WEITMIXx +y + 5 = 3% e (1)

938 T TEPIE, 10y + x = (10x + y) = 9 ...

(2)

YRR, TG (2) *TF ML,

10y—y+x-10x+9=0

-9 +9=0

y—x+1=0

2-5-x+1=0[(3) T®y 47 7 )

x=4

(3) 4 x &3 W7 I N3,

yu2xd=3=8<3 = 3

faedfa swe=nfs T3

AfAn

10x+y=10x4+3=40+3=43
o ey 43

2. WX RS @A AR AR AT A 7
i IACH @ATA W WA W iba Towgd =)
g At @3 18 IW et semy WA ARIET
@ | A fada w0y

TG : W R, Y2 TRRES FAfy «3e RN

Wt x I WIS RN T y |

7Y = x + 10y

3N WS, X +y + 7 =3y

A, x+y-3y==-17

[k = 2y =T cicssia )
TSR, x + 10y — 18 = y + 10x

q, x+ 10y -y—-10x =18

qA,L 9% -9 =18

A, 9y —-x)=18

a,y_)(:'lgs“zz

R & R, 2)
(1)8 (2) R IR NE, —y=—-5

=S

y @R WH (1) 7 @ IR AR,

Xx—2x5=-7

x=:3

foedfa A =3+ 10x5=3+50=53

ﬁm?ﬁ:

1. ¥2 aRQiS (I AR W @ 10 93R
Rrmewa 4 3@, Al R w71 Gea: 37

2. 2 TRRHE I AW 9IT REAW & T
A wrwd femgd weerwt | @f g weee
i Rffm e @ A Aeq T, O TREER
B AGoLR AW | ] o2 TEd: 27

3. R ORRAS g3 AIE TRReER Wu 4; Aifbe
wergy W [T a0 @ Fn Ahew TH; O 8
T weiba qeE 110; A W 3=
Ted: 7331 37

Rule-3

1. CIITT SR wTIa e 7 Q@ IACH eiiba
T 2 T @32 T AT 2 IM foee ogiefba W= 1
| syt a3

TR : A A, @ﬂﬁ'ﬁi,y#().
57 w@m,%:z

x+7=2y

o0 Dy ST e (1)
W‘N‘H"H@,y £ 5=1

x=y-2

R R S (2)
R (1) 6 (2) T T,

x—-2y=-7

x-y=-=2

-+ -
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-y ==5 R 3]
SHY=3

W], y = 5 AP (2) 4 X NE,

X=-5==2
rx=5-2=3

frefy et %

ﬁwm:

&

(P! SYICIF MRR AR 5 @I FACT 9] W 2
W YEE, W@ | R sam 93 99 133 )

eyjielfs fn a1 Tem: %

2. (A 4FT SYICE T 8 AN @A 14 aR
e § T, syteifd Rdn w7 m:%

3. CFITA SPIeR 7 Are 1 R e e e 2 @
wemmﬁ%mnwchN7ﬁmematﬂ
e 2 R v wielf ST syl R

15
4| m‘zs
Rule-4
1. 92 AR @nwe 60 @3 Romsss 20 T,

eyt 2 fdfa wa)

TN : T PR, T G2 FNPHA x G y |

§9IE, ARG (1) T T4 (2) [ewwt ¥ 12,
2y=40
40

» y=3=20

faedfa s1exm 72% 40 9201

ﬁwm:

1.

2,

3.

26 AR @eiga 100 @3 R 20 @,
s 12 A w11 BeR: 60, 40

25 AR @ 160 aR 93§ o
e, we i3 fAda 711 BeR: 120, 40

%35 e deufba fomaram e fasfba g2
@ IR 59 TWI WREA, Ao qRd (AT
e faoms T3m 9 =W T fadn 1)

. 11, 13

1.

Rote Rffias qa epmR
(x = y,3) = (0% + 2y) T (x,y) = F? (SYOT)

Te2: (1,1)
Tfit 3 e @FE 93k IR IS 20 9R
96 TW, ©LF 1 M=2HA ISAANES (reciprocals)

@T T A? (0dOW) BER: %

2 AR @NFA 48 GIR OIMA YT 4321 O]

G AR IS 7 (03@W) TEx: 36

3x —Ty+10 =0 GR y —2x -3 = 0 99 FANYF- (0>ST)
rx=-l,y=1

a3 4P SYITN TA ¢ AR WA R, T 8 7 Tow

>
F o Reart 340 @ Byt MM IW SR @

e I AR 3 W, S I ¢ {[39W)

Ted : 5,00
12 TSRS I AR GITA T T T
S o @M | At Bxm wewweR wSa fewe
wrorEl 8 A | e @ BER : xe

Feeifde az wfefag g TR

72 1 wreifis ffferza @uafba gftes =,
BT AT AR FPAAR ARG AR
Afies A . AL . I T FAW 7R I SIS
AR Aoy FI BeArIR WS HfgR o
a. Al o I

7.5 fRem c¥T@ 29 Function 4t Bemts
fRreest I0e TW | WER A9 I 4W8 Function
R I BeME qR WEHINA BeAme e
o |

eyt e

aZb(a® - b3), a?b2(a? + a?b? + b?) @32 (2% +
bd) @ 7. 7. o Ffw T

IF : 999 A, a?b(a® - b)

= a’b(a - b)(a® + ab + b?)

f&étw qif = a?b(a* + a?b? + b?)

= a?b?{(a®)? + 2a20? + (b2} - P
= a?b?{(a® + b?)? — (ab)?}

= a?b(a® + b? + ab)(a® + b2 —ab)
= a2b%(a? + ab + b?)(a® - ab + b°)
= (a3 + b3)(a + b)(a® —ab + b?)

w6 A = a3 + b3

2.

7. 9. . = a262(a — 63)a3 + b3)
= ab2(a0 - 19)
3-1,x3+ 1, x4+ x2+197 979 FO?

YT : 5V§Tﬁf,x3—1=(x—])(x2+x+1)
AP, B+ I=(x+1)x2-x+1)
T, A+ 2+ 1

(x2)2 + 2021 + 12 = x2
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= (x% + 1)? - ¥*
=(2+x+1)x2-x+1)

o fedm & A 9.
(x=1)02 +x+ 1)(x+ 1)(x* —x + 1)
=B-NB+1)=x0-1

ﬁmm:

3x2 4+ 9, x4 -9 «@e x4 + 6x2 + 9 @& 7, Al 4 FO?
a(a+b), a2 (a-b)a. . %, Fo?

x3y — xy3 @R x2-y? @@ 9. AL {FO?
2x2 + x G 4x2 — 1 @7 7. AL, Y, FO?

a2, be, ab%c, abc? -4 #. Al I.—

bl

A, A 9

7E O Srelks AABR AW FF AR JIAXTR
WG T G ARG TR @R QAN T,
e @ AT ARG e e A A AL . @)
g YW Y2 N SOIF APR T AOR) AR
BeATRTR TS O AR AL AN (o, AL
§.) 1| ALY TR %Y Common TeAWF A1 TerATTe

ey

g geld e

j 18 x2 = 11x + 30 @92 x3 — 4x2 — 2x - 15 @& 9.

AL IS?

¥ ;293 Ff = x2 - 11x + 30
=x2—6x-5x+30 =(x=6)(x-5)
R A = x3 —4x2 - 2x - 15

2.

nn

3

Wi

F ¢
o478 FMTS x = 3 I T H
L (x - 3) 930 CeATT

I :
A = o+ b3 =(a+b)a*—ab+b?)

x = 5 3P AT W IV ZH

. (x=5) 97 930 CANTE

=352 +x2-5x+3x-15

= x2(x—-5) + x(x = 5) + 3(x-5)
=(x=5)(x2+x+3)

fardm 9.9 = (x - 5)

x3 - x - 24 @32 x3 - 6x% + 18x — 27 @& 9.
=t 4, fFfa 3gE)

sHAM =3 —x-24

B—x-24

=32+ 3x2-9x +8x-24
2 (x—3)+ 3x(x—3) + 8(x-3)
(x—3)(x* + 3x + 8)

A = x5 —6x% + 18x-27

X3 = 3x2.3 + 3x.3% — (3 - 9x + 32

(x=3P +3x(x=3) = (x=3)f(x-3P + 3x )
9. % = (x—3)

a2 -b2e ad + b3 @@ A AL §—

STAM = a?-b2=(a+b)a-b)

%, 3. 9. = (a+b)

ﬁmm:

4(a + b), 10(a — b) @ 12(a? — b?) @@ 4. . %, Fo°

x3 -1, x3+ 1, x4 + x2 + 1 AiffEaa oL, 3. o, IS 2
x2 -9, x2 + 6x + 9, x2 + x — 6 AR . AL 7.
$9?

J

e
oL K

— o R, RN, 8 IR






